Answer any two questions:

ii)  What will be the probability that the sum
of outcomes as 7, when two Dice are
played at the same time?
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a)

‘.b)
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Explain different kinds of savyabhicara
hetvabhasa. |
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Expléin and examine the /laksana of
paramars’a, according to Nyaya philosophy.
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Explain Mill's method of Difference..
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Why, according to modern interpretation
FELAPTON and BRAMANTIP are not valid

moods? Explain. 5+5=10
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1. Answer any five questions:

own words as far as practicable. ‘
2x5=10
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a)‘

b)

c)

d)

What is hetu?
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Define pak;adharmat?zjﬁc?na.
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What are the five avayava:s of
pararthanumana?
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State the contrapositives of the following
propositons:
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i) -All men are not selfish.
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ii) Some philosophers are not scientists.
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Give the logical form for the following '

proposition:
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i)  This flower-vase is not old.
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ii)  Only Greek people are honest.
(@G JFAAS AL |
Define inductive logic.
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Which step of the following Arguments
determine Existential Import?
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i) Allnon-s are non-p
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ii)  Therefore, No non-s is Vp
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iii). Therefore, No p is non-s
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iv). Therefore, some p is non-s
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Answer any two questions:

Distinguish between cause and condition with
example. i
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5x2=10
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a)

Explain with example the kevalanyayi and
kevala vyatireki.
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b)

d)
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- Discuss in brief the role of farka in establishing

vyapti .
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Is sub-altern oppositién a real oppositions?

Explain.
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Using probablhty calculus solve the following

problems
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i)  What is the probability of getting heads

| twice when we toss two perfect coins at

the same time? _
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